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Note :– This paper is of Seventy (70) marks divided into

Two (02) Sections ‘A’ and ‘B’. Attempt the

questions contained in these Sections according to

the detailed instructions given therein. Candidate s

s h ould lim it th e ir answ ers to th e qu e stions on th e

given answ er s h e et. No additional (B) answ er

s h e et w ill be is su ed.

  (70)     (02) 
          


       


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Section–A

–

Long Answ er Type Questions

  2×19=38

Note :– Section ‘A’ contains Five (05) Long-answer

type questions of Nineteen (19) marks each.

Learners are required to answer any tw o (02)

questions only.

(05) 

(19) 

(02) 

1. What do you understand by Cobb-Douglas production

functions write down the main characteristics of Cobb-

Douglas production functions.

        

 

2. Verify that A(B + C) = AB + AC where :

[ ]A 1, 2 = , 
1 2 3

B
0 4 5

 
 =  

 
 and 

1 0 1
C

2 3 0

 
 =  

 
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A(B + C) = AB + AC  

[ ]A 1, 2 = , 
1 2 3

B
0 4 5

 
 =  

 
  

1 0 1
C

2 3 0

 
 =  

 

3. Find the inverse of the following matrix :

0 1 2

A 1 2 3

3 1 1

 
  =  
  



0 1 2

A 1 2 3

3 1 1

 
  =  
  

4. What is the uses of difference equation in economics.



5. What do you understand by linear programming ?

Explain the assumption and characteristics of linear

programming.

          


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Section–B

–

Sh ort Answ er Type Questions

  4×8=32

Note :– Section ‘B’ contains Eight (08) Short-answer type

questions of Eight (08) marks each. Learners are

required to answer any four (04) questions only.

    (08)      

(08)

(04) 

1. Define union and intersection of sets with proper

example.

   



2. The sum of two numbers is 15, if the sum of their

reciprocal is 
3

10
. Find the numbers.

15 
3

10



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3. If f(x) 5x2 + 2x + 1, then find the value of 
1

2
f

 
 
 

, f(0),

1

3
f

 
 
 

, and f(3).

f(x) 5x2 + 2x + 1,  
1

2
f

 
 
 

, f(0), 
1

3
f

 
 
 

, 

f(3)

4. What do you understand by function ?



5. Find the value of determinant :

1 3 1

2 5 4

6 1 0



1 3 1

2 5 4

6 1 0

6. If :

4 2
A

0 6

 
=  

 
 and 

2 4
B

4 6

 
=  

 

then find the value of AB.
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

4 2
A

0 6

 
=  

 
  

2 4
B

4 6

 
=  

 

AB 

7. Find the integration of following functions :

(i) ∫
23 .xx e dx

(ii)
2. .xx e dx∫



(i) ∫
23 .xx e dx

(ii)
2. .xx e dx∫

8. Explain concurrent production function with example.



**************


